

The Uniqueness of Solutions of a System of Functional Equations in Some Classes of Functions

J. MATASOPOULOS (Athens, Greece)

In the present paper we consider the problem of the uniqueness of solutions of the system of functional equations

$$f_j(x) = f_j(x_1) + f_j(x_2) + \dots + f_j(x_{k_j}) \quad (j = 1, \dots, n), \quad (1)$$

where f_j and x_j are given functions and x_j are solutions.

Theorem 1 below settles the uniqueness of solutions in $\mathcal{C}^1 = \{1, \dots, n\}$ in certain classes \mathcal{C}_j . In the case $n = 1$ the result is stated in the investigation of B. Chacón (19) and M. Krasnos [1] regarding the uniqueness behavior on the fixed points of the function f_j of solutions for an additive type equation of the equation

$$f(x) = f(x) + f(x) \quad (2)$$

in a particular case.

It is recalled in Theorem 1 we obtain uniqueness theorem for the differentiable solutions of the system (1). The main results concerning the differentiable solutions of equation (1) are due to M. Chacón (19) and (20), Chapter (18). Some recent contributions are considered in the following papers (17) and (18).

In general the solution of equation (1) as well as that of equation (2) depends on an additive function (cf. [8], Theorem 1.1, 4.1, 11.1) and the conditions ensuring the uniqueness of solutions are of considerable importance in the theory of functional equations through results (cf. [9]).

1. Let us assume that

(1) Each function f_j is defined in I and there exists λ_j such that

$$f_j(x) = \frac{f_j(x) - f_j(x)}{\lambda_j} = 1 \quad \text{for } x \in I_j, \quad f_j(x) = 0, \quad x \in I \setminus I_j, \quad j = 1, \dots, n.$$

Remark 1. This condition implies that for every interval $I_j \cap I$ and that $I \setminus I_j$ and the every $I \setminus I_j$ and $I \setminus I_j$ we have $f_j(x) = 1$ or $f_j(x) = 0$ respectively. It is clear that the zero and values $f_j(x) = 1$ or $f_j(x) = 0$ where f_j become the additive value than $f_j(x)$.

Using (1) we can obtain for the value $x_j = x_j(x) = f_j(x)$ the conditions

$$f_j(x) = f_j(x) = 1 \quad \text{for } x \in I_j, \quad j = 1, \dots, n. \quad (3)$$

Theorem 1.

(1) For every $x_j = x_j(x)$ in the function f_j is defined in I and for $x_j \in I_j$ there exist a point $(x_j, f_j(x_j)) = f_j(x_j)$ such that condition (1) is satisfied.

Let $A^1, \dots, A^m \in \mathbb{R}^{n \times n}$ be a fixed system of $n(n+1)$ equations. We introduce the following definition of the functions E_i .

DEFINITION. $\varphi_i \in E_i$ ($i=1, \dots, m$) if and only if φ_i is defined in J and there exists a number $\varphi_i(\varphi)$ such that

$$\varphi_i(\varphi) = E_i(\varphi) = \varphi_i \circ (\mathbb{T}^{-1})(\varphi), \quad \forall \varphi \in J, \quad \text{and } i. \quad (2)$$

where

$$\varphi_i(\varphi) = \varphi_i \circ \left[\prod_{j=1}^m \frac{A_j^i}{A_j^j} \right] \varphi = \mathbb{T}^{-1} \varphi. \quad (3)$$

We shall prove the following

THEOREM 1. If conditions (1)-(3) are fulfilled and there exist positive numbers $\epsilon, \delta, \eta, \alpha, \beta$ and the

$$L_i A_j A_i \circ \mathbb{T}^{-1} \circ A_j \mathbb{T}^{-1} \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} = \alpha_i \mathbb{T}^{-1} \circ \mathbb{T}^{-1}, \quad i, j=1, \dots, m, \quad (4)$$

$$\left. \begin{aligned} &A_i(\varphi, \varphi_i) \rightarrow \varphi_i = A_i(\varphi, \varphi_i) \rightarrow \mathbb{T}^{-1} \left[\prod_{j=1}^m A_j \varphi_j = \varphi \right] \\ &A_i(\varphi, \varphi_i) \rightarrow A_i(\varphi, \varphi_i) \rightarrow \mathbb{T}^{-1} \left[A_j \varphi_j \rightarrow \mathbb{T}^{-1} \varphi_j \right] \end{aligned} \right\} \quad (5)$$

where

$$A_i \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} = \alpha_i \left[\varphi_i \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} \right] + \beta_i \left[\varphi_i \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} \right] \circ \varphi_i \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} + \delta_i \left[\varphi_i \circ \mathbb{T}^{-1} \circ \mathbb{T}^{-1} \right]$$

and

$$\alpha_i = \sum_{j=1}^m \beta_j A_j A_i \circ \mathbb{T}^{-1}, \quad i=1, \dots, m, \quad (6)$$

then

(a) for every two solutions $\varphi = (\varphi_1, \dots, \varphi_m) \in \mathbb{T}^{-1}(\mathbb{T}^{-1}(\varphi_1, \dots, \varphi_m))$ of the system (1) there exists an element φ_1 such that $\varphi_1 \in E_1$ and $\varphi_2(\varphi) = \varphi_2(\varphi_1, \varphi_2) \in E_2$ for $i=1, \dots, m$.

(b) if moreover α_i of (4) $\mathbb{T}^{-1} \circ \mathbb{T}^{-1} = \alpha_i \mathbb{T}^{-1} \circ \mathbb{T}^{-1}$ are substituted in (5), $i=1, \dots, m$ then the system (5) has a great number of solutions $\varphi = (\varphi_1, \dots, \varphi_m)$ and that $\varphi_1 \in E_1$ $\varphi_2(\varphi) = (\varphi_2(\varphi_1, \varphi_2), \dots, \varphi_m(\varphi_1, \varphi_m))$ is a solution of (1).

$$\mathbb{T}^{-1} \circ \varphi_i \circ \mathbb{T}^{-1} \circ \varphi_i \in E_i. \quad (7)$$

Suppose that $\varphi_1 = (\varphi_1, \dots, \varphi_m)$ for $\{\varphi_1, \dots, \varphi_m\} \in \mathbb{T}^{-1}(\varphi_1, \dots, \varphi_m) \in E_i$ are solutions of the system (1). Then we have

$$\varphi_1(\varphi_1, \varphi_1(\varphi_1)) = \varphi_1(\varphi_1), \quad \forall \varphi_1(\varphi_1) \in \varphi_1, \quad \text{and } i=1, \dots, m, \quad (8)$$

$$\varphi_1(\varphi_1) = \varphi_1(\varphi_1) + \alpha_i \mathbb{T}^{-1}(\varphi_1), \quad \forall \varphi_1(\varphi_1) \in \varphi_1, \quad \text{and } i=1, \dots, m. \quad (9)$$

Inserting α_k and β_k into (1) we easily verify that the functions $F = (F_1, \dots, F_n)$, $F = (F_1, \dots, F_n)$ satisfy (1) for arbitrary constants α_k, β_k .

$$F_k(x) = \alpha_k f(x) + \beta_k [f(x) + f_1(x) + \dots + f_n(x) - f(x)], \quad 1 \leq k \leq n, \quad (32)$$

where

$$f_k(x) = \alpha_k - \beta_k$$

$$= \frac{1}{n} \sum_{j=1}^n \alpha_j + \beta_j [f(x) + f_1(x) + \dots + f_n(x) - f(x)] + (1 - \beta_j) f(x) = f(x). \quad (33)$$

Since f_k and f_n are continuous at $x=0$ and $f_k(0) = f_n(0) = f(0)$ follows from (3) and (33) that there exist constants α_k, β_k such that (32) and

$$[n - F_k(x) + F_n(x)] + [F_n(x) - F_k(x) + f_1(x) + \dots + f_n(x) - f(x)] = [1 - \alpha_k + \beta_k] f(x) + \beta_k f(x) \quad (34)$$

for all x in $I \cap J$ and $f(0) = f(0)$.

Since f is continuous at $x=0$, it follows that

$$[1 - \alpha_k + \beta_k + \beta_k] f(x) = [1 - \alpha_k + \beta_k + \beta_k] f(x) + \frac{1}{n} \sum_{j=1}^n \alpha_j f(x) = \beta_k f(x) \quad 1 \leq k \leq n. \quad (35)$$

For all x in $I \cap J$, $f(x) \neq 0$, $f(x) \neq 0$, $1 \leq k \leq n$, where

$$\alpha_k = (1 - \beta_k) / \beta_k. \quad (36)$$

Accordingly, if we divide (32) by $f(x)$

$$[1 - \alpha_k + \beta_k] + \frac{1}{n} \sum_{j=1}^n \alpha_j [1 + \beta_j] = [1 - \alpha_k + \beta_k] + \beta_k, \quad 1 \leq k \leq n.$$

Since $f_k(x) = \alpha_k - \beta_k$ and $f_n(x) = f(x)$ we obtain

$$\frac{1}{n} \sum_{j=1}^n [1 - \alpha_j] = [1 - \alpha_k] + \frac{1}{n} \sum_{j=1}^n \alpha_j \frac{1 - \alpha_j}{1 - \alpha_j} = [1 - \alpha_k] + \beta_k, \quad 1 \leq k \leq n.$$

Thus

$$\begin{aligned} \frac{1}{n} \sum_{j=1}^n [1 - \alpha_j] = [1 - \alpha_k] + \frac{1}{n} \sum_{j=1}^n \alpha_j \frac{1 - \alpha_j}{1 - \alpha_j} &= [1 - \alpha_k] \\ &+ \frac{1}{n} \sum_{j=1}^n \alpha_j \frac{1 - \alpha_j}{1 - \alpha_j} = [1 - \alpha_k] + \beta_k. \end{aligned}$$

Writing $\alpha_k = \frac{1 - \alpha_k}{1 - \alpha_k}$, $[1 - \alpha_k] = [1 - \alpha_k]$ we obtain from (36) and (37) the inequality

$$\alpha_k = \frac{1 - \alpha_k}{1 - \alpha_k} \leq \frac{1 - \alpha_k}{1 - \alpha_k}.$$

Since $\alpha_k \in I \cap J$, $f(x) \neq 0$, $f(x) \neq 0$, $1 \leq k \leq n$. This means that $[1 - \alpha_k] = [1 - \alpha_k]$ for all x in $I \cap J$. From (36) and (37) we obtain $\alpha_k = \beta_k$ for all x in $I \cap J$. This is a contradiction.

Remark 1. The interval J_α depends on α , and hence on the particular function α used; it is non-monotone with respect to the distribution used for model (10).

(3) With the use of probability as the measure function (instead of C - or F - or the full measure (7)),

Suppose that $\alpha_k \in \mathcal{H}$ ($k=1, \dots, n$), $\mathcal{H} \subseteq \mathcal{B}(\mathbb{R}, \mathcal{C})$, and let $\alpha^{(1)}, \dots, \alpha^{(n)} \in \mathcal{H}_k$ ($k=1, \dots, n$) be two collections of the same type as before, $\alpha_k, \alpha^{(k)} \in \mathcal{B}(\mathbb{R}, \mathcal{C})$. Let us denote by α_k the expression of all members of each that $\alpha_k(x) = \alpha_k(x)$ for $x \in \mathcal{B}(\mathbb{R}, \mathcal{C})$, $k=1, \dots, n$. Evidently, it is sufficient to show that $\mathcal{H} \subseteq \mathcal{B}(\mathbb{R}, \mathcal{C})$. For the reduced proof suppose that α_k is an inner point of J_α . From the hypothesis $\alpha_k \in \mathcal{H}$ ($k=1, \dots, n$) and from (2) we obtain (7) with α_k instead of α and \mathcal{H}_k instead of \mathcal{H} . If we let $\alpha_k^{(1)}, \dots, \alpha_k^{(n)} \in \mathcal{H}_k$ for $k=1, \dots, n$ then the $\alpha_k^{(1)}, \dots, \alpha_k^{(n)}$ are defined

$$\left. \begin{aligned} \alpha_k(x) &= \alpha_k(x, \alpha_k^{(1)}(x), \alpha_k^{(2)}(x), \dots, \alpha_k^{(n)}(x, \alpha_k^{(1)}(x), \dots, \alpha_k^{(n)}(x))) \\ &= \alpha_k(x, \alpha_k^{(1)}(x), \alpha_k^{(2)}(x), \dots, \alpha_k^{(n)}(x, \alpha_k^{(1)}(x), \dots, \alpha_k^{(n)}(x))) = \alpha_k(x), \end{aligned} \right\} (17)$$

which contradicts the definition of α_k and proposition (9) of \mathcal{H}_k .

If α_k is $k=1, \dots, n$ not continuous in J_α , then the argument is similar. Namely, for the same reason as above we define the number α_k and we suppose that α_k is an inner point of J_α . It follows from the continuity of α_k and from (1) that there exists an $\alpha_k^{(1)}, \dots, \alpha_k^{(n)}$ such that

$$J_\alpha \cap \mathcal{H} \cap \alpha_k^{(1)}, \dots, \alpha_k^{(n)} \neq \emptyset, \quad k=1, \dots, n.$$

Hence we obtain (17) for $\alpha_k \in \mathcal{H}_k$ which contradicts the definition of α_k . This is the theorem proved.

Immediately from Theorem 1 we obtain the following:

THEOREM 2. If conditions (H), (H') are fulfilled, the functions J_α and J_β are of class C^1 in \mathcal{H} and \mathcal{H}' respectively, and

$$\left| \frac{\partial J_\alpha}{\partial \alpha_k} \right| = \left| \frac{\partial J_\beta}{\partial \alpha_k} \right| = \left(\frac{\partial J_\alpha}{\partial \alpha_k} \right) \alpha_k^{(1)}, \dots, \alpha_k^{(n)} \quad \text{for } k=1, \dots, n.$$

Thus, for every point of members $\alpha^{(1)}, \dots, \alpha^{(n)} \in \mathcal{H}_k$ ($k=1, \dots, n$), there exists at least one solution $\alpha = (\alpha_1, \dots, \alpha_n) \in \mathcal{H}$ such that $\alpha_k \in J_\alpha$ and $\alpha_k^{(1)}, \dots, \alpha_k^{(n)} \in \mathcal{H}_k$ ($k=1, \dots, n$).

Remark 2. If $\mathcal{H} = \mathcal{C}^1$ or \mathcal{C}^2 or \mathcal{C}^k then we can assume that $\alpha_k^{(1)}, \dots, \alpha_k^{(n)}$ satisfy the

$$J_\alpha(x) = \alpha_k^{(1)}(x) = \alpha_k^{(2)}(x) = \dots = \alpha_k^{(n)}(x) \quad \text{for } x \in \mathcal{B}(\mathbb{R}, \mathcal{C}), \quad J_\alpha(x) = \alpha_k^{(1)}(x).$$

This condition implies that for every interval $J_\alpha = (\alpha_k^{(1)} - \delta, \alpha_k^{(1)} + \delta) \cap \mathcal{H}$ we have $J_\alpha \cap \mathcal{H}_k \neq \emptyset$.

REFERENCES

- [1] Gerasimov, I., Investigation of the Solution and Behaviour of \mathcal{R}^{α} -Fractional Solution of a Fractional Spectral Type Problem, *Math. Sci. 17* (1972).
- [2] Gerasimov, I., Physical interpretation of spectral problem related to Admittance, *Journal of the Soviet Union of Math. Sci. 1* (1973).
- [3] Gerasimov, I., Spectral Equation in a Linear System (1974), *Warsaw, 1974* (Warsaw University, Warszawa, 1974).
- [4] Gerasimov, I., *Linear Algebra's Fractional Equations*, *Acta Univ. Wratislaviensis*.
- [5] Gerasimov, I., *Mathematical Foundations of Fractional Spectral Equations in a Linear System*, *Journal of the Soviet Union of Math. Sci. 1*, 11-12 (1973).
- [6] Gerasimov, I. and Gerasimova, J., *Solution of Fractional Equation in a Special Class of Operators*, *Acta Univ. Wratislaviensis*.
- [7] Gerasimov, I., On the Solution of \mathcal{R}^{α} -Fractional Solution of a Fractional Spectral Type Problem, *Acta Univ. Wratislaviensis (Phys. 1)* 19-22 (1974).
- [8] Gerasimov, I., On the Solution of \mathcal{R}^{α} -Fractional Solution of a Fractional Spectral Type Problem, *Acta Univ. Wratislaviensis (Phys. 1)* 19-22 (1975).

Wrocław University